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business
Hadi Company
Adjusted Trial Balance
31 December 2023
Account Debit Credit
Cash 7,300
Accounts receivable 3,300
Equipment 15,000
*. Closing Inventory * 1,800
Accumulated depreciation - equipment 4,000
Accounts Payable 5,500
Prepaid revenue 7,000
Owner's equity 15,600
Owner's drawing 3,500
Revenue from shoes 7,900
Sales @nd allowances s 200
Sale - 50
Cost of goods sold \33?3
" Administration expense 800
Depreciation e)ﬁ 3,700
p—
Rental expense 3,400
Total 40,000 40,000
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96 Chapter 17310 marks 3§

+* Question 1: for Financial Statements — SoPoL and SoFP

<tef pud
Eram-Pos s

Below is the adjusted trial balance of Hadi Company that is in the merchandising of shoes

At the end of the financial year 31st December 2023, the ending inventory is was SR55,000.

You are required to prepare
c. Statement of Profit and Loss

d. Statement of Financial Position
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X Question 2:

A company shows this trial balance at the end of 2024:

Account Debit Credit
Factory SR 8,000,000
Buildings (headquarters) SR 4,500,000
Accumulated depreciation (Factory) SR 2,000,000
Accumulated depreciation (Buildings) SR 2,400,000
Accounts payable SR 235,000
Sales revenue SR 12,000,000
Selling (marketing) expenses SR 150,000
Cost of goods sold SR 8,000,000
Administrative expenses SR 700,000
Machinery SR 1,500,000
Allowance for A/R SR 100,000
Accounts receivable SR 1,600,000
Capital SR 5,000,000
Reserves SR 115,000
Long term debt SR 4,000,000
Inventory: finished goods SR 1,200,000
Prepaid expenses SR 20,000
Cash SR 180,000

SR SR

25,850,000 25,850,000

Prepare the following financial statements:

1- Balance sheet

2- Profit and loss account ?w'auje? 3 A

RCJ — L
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+* Question 1:
Gadget Galaxy had the following inventory transactions for a specific type of drone during

the month of May:
* May 1: Beginning Inventory - 50 drones at a cost of SAR 500 each.

* May 10: Purchased 100 drones at a cost of SAR 550 each.

« May 22: Sold 120 drdps at SAR 650 =2 SP.
* May 28: Purchased 80 drones at a cost of SAR 600 each.

Assuming Gadget Galaxy uses the First-In, First-Out (FIFO) inventory costing method,
what is the value of the ending inventory (closing balance) of drones at the end of May? éq so
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< Question 2:

A company presents the following data regarding its inventory:
01.01.2025 Beginning inventory = 1,000 units at SR50
05.01.2025 Purchase = 4,000 units at SR60

15.01.2025 Sale = 4,500 units

20.01.2025 Purchase = 8,000 units at SR70

28.01.2025 Sale = 7,000 units

Show the ending inventory (units and total SR cost) following:

3-FIFO method

4-Periodic average cost
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*NQuestion 3:
Umar Wech Solution Company uses the continuous average cost method to valyg/its

inventory oNgiggles" tablets. There are many consumers using these tablep$ and found

them cheap andWgeful for daily use. In order to determine the ending y#flue of its inventory

and gross profit for thg month, here are the inventory transactiong/for the month of May

2025:

May 1, beginning inventory of AR units at SR250 per tablg

May 5, purchase of 50 units at SR278per tablet

May 12, sold 60 units of tablets

May 18, purchase 40 units at SR260 per tapfe

May 25, sold 30 units of tables

May 28, purchase 25 units at SR280 per tablet

May 31, sold 35 units of tablg

¢ Instructions:

c. Determine the vg#ie of the ending inventory of Umar Tech Solution®\{ompany as of May
31, 2025, ugifig the continuous average cost method. Show all your calcu¥qtions.

d. If UmargAech Solution Company's total revenue from the sale of "giggles" tabhgs in May
2025 was SAR 48,000, calculate the cost of goods sold and the gross profit for thé

onth.
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+* Question 4:

(a) Storm, an entity, hld 500 units of product X at 30 June 20X5. The product had been
purchased at a cost of g;; per unit and normally sells for$24 per unit. Recently, product X
started to deteriorate but can still be sold for $24 per unit, provided that some rectification
work is undertaken at a cost'of S3'per unit:

What was the value of closing inventory at 30 June 20X5?

(b) Hurricane, an entity, hac of product Y at 30 June 20X8. The product had
been purchased at a cost of $30 per unit and normally sells for %er unit. Recently,
product Y started to deterio‘Tte.and can now be sold for only/S38 per unit, provided that

some rectificatigaaork is undertaken at a cost of $10 per unit.

What was th @ f inventory at 30 June 20X8?
—
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96 Chapter 7 ¢ 8 marks 3¢

o

+* Question 1: -

On January 1, 2025, Al-Amanah Trading Company purchased a piece of machinery for

SAR 150,000. The estimated useful life of the machinery @ears, and its estimated

residual value is SAR 15,000. Al-Amanah's financial year ends on December 31st.

¢ Instructions:

e. Calculate the depreciation expense for the machinery for the years ended
December 31,2025, 2026, and 2027 using the straight-line method.
Also, determine the net book value of the machinery as of December 31, 2027, under
this method.

f. Calculate the depreciation expense for the machinery for the years ended
December 31,2025,2026, and 2027 using the reducing balance method at a rate of
30% per annum. Also, determine the net book value of the machinery as of
December 31, 2027, under this method.

g. Assume that Al-Amanah Trading Company disposes of the machinery on December 31,
2027, for S Atg,OOO. oimpuingsmgER| reducing balance method for depreciation
(as calculated in part b), calculate the profit or loss on the disposal of the machinery
(show calculation).

h. Prepare the journal entry to record the disposal of the machinery on December 31, 2027,

A - d reducing balance method.
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+$* Question 2: bCﬁ-

A company purchased a new machine on 01.01.2025. The cost of the machine was

SR10,000,000. The company will

17depreciate the machine following the reducing balance method, at a rate of 50%. Show the

journal entries corresponding to
this depreciation for the dates 31.12.2025 and 31.12.2026.
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+* Question 3:

MDLBEAST, the company organizing Sound storm festival, purchased a truck to transport
musical & sound devices on 01.01.2025. The company paid'SR 800,000 for the truck.
MDLBEAST plans to use the truck for 10 years, value.dAfter 3 years, in 01:01.2028,
MDLBEAST sells the truck in SR 600,000 in cash. with a straight line depreciation and with
A~

no salvage

1. Explain in which of the 5 categories of the accounting equation will MDLBEAST included

the truck: I'lon—current assel, current asset, equity, current liability, non-current liability.

2. Why MDLBEAST included the truck in that category?

3. Record the sale of the truck on the journal.

Cosr = o= -

| Vea

;.\Uﬂ

o] s

Aepexp - 300 =S _gpeng
oo
o oo

( ‘ ) hon-current assel,

LZ) Purt. Truce K 'P l"\/"‘ — NCA

mooathan | year.

(%) (ash Loooos
Rcudep.  (7)24omo

Truck  Sooeee

Aqmoulde o .

é°°OQ> Y000 — oo c0e = t+Yooeeqqiy

. . 43 o . o e CC%)
S50 G Y1 e 5l L 5 ¥ 5 a5l Jae ) il e S 5ol A i 5 sl s

AL 200

>







L X = A
tFN— — > =

BEUSINESS SKILLS CENTER

96 Chapter 109¢ 3 marks ¢

+* Question 1: PN? i o CP E ‘ ( »

On October 1,2025, Al-Aman Insurance Company paid SAR 24,000 foria two-year
insurance policy covering the period fromOctober 1, 2025, to September 30, 2027. Al-
Aman's fiscal year ends on December 31st.

What amount of insurance expense should Al-Aman Insurance Company recognize on its
income statement for the year ended December 31, 2025, and what is the balance of the

prepaid insurance account on its balance sheet as of December 31, 2025? 2‘ oNno

Please write the journal entry for((a) initial payment and the(b) adjustment made to

insurance expense at the end of financial year?
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+$* Question 2: Pree aickey i
A company reports from January 1st untillDecember 31st. The compaply signed the contract

of an insurance policy to cover risks in its factory. The compan @- 01.11.2024 the
O

insurance premium of SR240,000. This payment ensures insurance coverage until

31.10.2025. Please, show the journal entries that correspond to 2024 and 2025 regarding

r ]
this transaction.
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Salamiah Compan AR 120,000 onIlst October 2024from a tenant for rental

income covering a 12-month period in advance. The company’s financial§/fear ends on 31st

December 2024. Explain how this transaction should be recorded in the accounting records

for the year ended 31st December 2024. Also, show the journal entries.
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+* Question 4:
am—
Azeem Company has a service contract with a security company forfSARI8;000iper month.

e
e) Payments are made quarterly in arrears. By 31st December 2024, the company had paid

\.6 only up to September 2024 (i.e., for the first 9 months). The remaining amount for October
P e

to December 2024 will be billed and paid in January 2025. The company uses the accrual

basis of accounting. Explain how Azeem Company should account for the security expenses
in the financial statements for the year ended 31st December 2024. Provide the necessary
journal entries and explain how the expenses and accruals should be reported in the income

statement and balance sheet.
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** Question 5:

Razali Company provides financial advisory services and charges clients on an'annual basis.
On 1st April 2024, the company signed a SAR 60,000 contract to provide consulting
services for 12 months (from 1st April 2024 to 31st March 2025). The client agreed to pay

the full amount upon completion of the service in March 2025. As of 31st December 2024,
no payment has been received and no income has been recorded yet. Razali Company
prepares its financial statements on a calendar-year basis. Under the accrual accounting
principle, how should this transaction be accounted for in the year ended 31st December

20247 Show the journal entry and explain how it would appear in the financial statements.
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96 Chapter 11363 marks $
+* Question 1:
At the beginning of 2025, Al-Falah Company had a(credit balance of SAR 28,000 in its
allowance for doubtful accounts. During the year, the company wrote off SAR 15,000 of
uncollectible accounts. At December 31, 2025, an aging analysis of the accounts receivable
indicated that SAR 55,000 is estimated to be uncollectible.
What amount should Al-Falah Company recognize as irrecoverable debt expense

(bad debt expense) for the year ended December 31, 2025? \.
op\s
bea) ADN z2Recs.
Write ot 15cco—> ADR  )Sees
Evd DR 5Sece AR 1Seee

Emd — \Dtj 4—-\'&?3('909() = Trredebter
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ADR 2000 .
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+* Question 2:

During its fiscal year ended December 31, 2024, Al-Salam Trading Company had an

outstanding a e of SAR 750,000, The company uses the allowance
method to account for uncollectible accounts. At the beginning of the year, the allowance for
receivables-accounts had a credit balance of SAR 35,000: Throughout the year, Al-Salam
Trading Company determined that'SAR 18,000 of accounts were uncollectible and wrote
them off. At year-end, an aging of accounts receivable indicated that SAR 62,000 of the
remaining receivables were estimated to be doubtful.

Based on this information, what amount should Al-Salam Trading Company recognize as

irrecoverable debt expense (bad debt expense) for the year ended December 31, 20247
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+* Question 3:
Rosa Company sells Calculators. Rosa Company receivables account has a balance of

SR67,000 on 31st March 2024 before making the following adjustments:

a) Debts amounting to SR7,000 to be written off because it is believed that they are

irrecoverable. en a.
b) Rosa Company decides to make a specific allowance of SR2,500, |n which Rosa

Company's allowance for receivables on 1st April 2023 was SR4,500. BC%.

i) Prepare journal entries for the above transactions?

© ii) Calculate the net receivable on 31st March 2024 after adjusting for the above two

transactions. \/
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96 Chapter 5 $¥MCQ ¥

X Question 1:

A compa nercha ndise to a customer for SR100,000 on credit. Cash discount is 5%

if settled within 7 days. The company felt the discount would not be taken by the customer.
A

The customer, however, paid in 7 days from the invoice date and enjoyed the discount.

post the journal entries corresponding to the sale and the cash receipt.

Notes: \ 0080e X SC/< Sooo

5% x 100,000 = 5,000 l6o0c0 — Soe=9C00=

100,000 - 5,000 = 95,000 v N

Seld retur releive Cast
- N sel)
AR looose - {,kgg[w\.d Cash 0\§oo¢< € Jipe
\ Sade dask S
Sale Rerseny Joooos hE A
7\
e‘@ Nt C’p\'
¢ Question 2: N c

Arbusiness'madea credit sale to-a.customer-amounting to:SR350,000, with payment due in
45 days. However, five days after the sale, the customer returned goods worth SR80,000
due to defects. How should the company record the return transaction in its accounting

records?

Sald:-
AR 2Ce Qo
Calg foven— ES= 0=
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+* Question 3:

A company grants a 15% trade discount to certain preferred customers. Additionally, it
offers @ early payment discount to credit customers. A customer makes a credit
purchase of goods listed at SR8,000 and qualifies for the trade discount. However, the

company believes the customer is_unlikel f the early settlement

discount. What amount of revenue should the comfany recognize at the time of the sale?

R00o XIS/ = |00
Zeoo —\200 = 5500

£

AK égoe \,
Sodefe,e bCoe > Rven (Yo~

+* Question 4:

On March 5, 2025, Company X sold goods on credit to Customer Y for SR4,000, offering a
-~

2% early payment discount if payment is made within 7 days of the invoice date. At the time

of sale, Company X reasonably expected the customer to take advantage of the discount. On

March 11, 2025, Customer Y settled the invoice within the discount period and qualified for

the discount. What journal entry should Company X record upon receiving the payment?

Y00 X2/ = R0 “‘Q.C(l.u-ﬂ'd
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96 Chapter 3 $¥MCQ ¥

+* Question 1:

A business has the following position in its Statement of Financial Position, that are as
follows: Assets SR600,000, Liabilities SR250,000, and Equity SR350,000. The company then
raises additional funds by issuing new ordinary shares, receiving SR120,000 in cash. This
amount is immediately deposited into the company’s bank account. What will the accounting

equation look like after recording this transaction?

A _ L + Egui-
Loooos = 2Sc00n +SSocoo
- -
) 20000 | 20000

2000 = Soococo + Yte o
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¢ Multiple choices :

1. Acompany applies PERIODIC weighted average, and it reports the following data for its

inventory:
Units Unit cost
Beginning inventory 1,000 SR10
Purchase 5,000 SR22
Sale 5,900
What is the value of the ending inventory? )’CS leco
a. SR1,600 PW S
b. SR2,200 boo 120000
T
. SR1,000 Seld A
: S0y | 16O
®5R2,000
= \m

@A company has an accountlng year from january 1st until December 31st. On December
28th 2024, the company receives from a customer SR500,000 as the payment of a
service that the company will provide in the first quarter of 2025. What is the journal

entry the company should record to register this cash receipt?

a. DEBT CREDIT
Debit. Cash SR500,000
Debit. Prepaid income (unearned revenue) SR500,000
b. DEBT CREDIT
Debit. Cash SR500,000
Debit. Sales revenue SR500,000
c. DEBT CREDIT
Debit. Sales revenue SR500,000
Debit. Cash SR500,000
d. DEBT CREDIT
Debit. Prepayment SR500,000
Debit. Cash SR500,000
Seocte - |Lloon . -
<
Deczi

Casln. Soo 000
S G V) o et ol Lot 55555 jmij&em -
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ABC Corporation has purchased a new machinery for its factory (purchasing price

SR 1,000,000), in'cash. Which journal entry should be recorded by ABC Corporation?

a. DEBT CREDIT
Debit. Accounts receivable SR 1,000,000

Credit. Revenues SR 1,000,000
b. DEBT CREDIT
Debit. Cash SR 1,000,000

Machinery SR 1,000,000
c. DEBT CREDIT
Debit. Machinery SR 1,000,000

Credit. Cash SR 1,000,000
d. DEBT CREDIT
Debit. Machinery SR 1,000,000 ove
Credit. Accounts payable SR 1,000,000

ey~ =00

Iernding inventorylislovervalued: I COG‘& P" -t

a. Assets are overstated in the statement of financial position and profit is overstated in the

F

statement of profit or loss (as cost of sales is lower).
b. Capital will increase in the same amount.
¢. Non-current assets are overstated in the statement of financial position.

d. There is no impact on either statement of financial position or statement of profit or loss.

What is a characteristic of limited liability companies?

a.The liability is limited, which means that shareholders may lose all their ’
personal assets (houses, cars, etc.) if the company goes bankrupt.

b. The liability is limited, which means that if the company goes
bankrupt, the maximum loss for shareholders would be the price they
paid for their stock of the company.

c.They are usually owned by one person.

d.These companies can be started informally, i.e., not following any legal procedure set by the

corporate law.

b.
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.

C\.\QA company sold goods worth SR10,000 on credit. Cash discount is 10% if settled within
8 days. The company felt the discount would be taken by the customer. The customer,
however; did not do as expected and paid in 30 days from the invoice date. The selling
company's journal entry for the cash receipt will be:

Notes: Pf& @ 0Qa Cash ‘bm
9 0,000 = 1,000

10,000/-1,000 = 9,000 SGLQEG.»ROOQ- A K °\°00
a| € - DEBIT CREDIT Salke/ 1000
Debit. Cash SR10,000
Credit. Sales revenue SR1,000
Credit. Accounts receivable SR9,000
b. DEBIT CREDIT
Debit. Cash SR9,000
Credit. Accounts receivable SR9,000
c. DEBIT CREDIT

Debit. Cash SR10,000
Credit. Accounts receivable SR10,000
d. DEBIT CREDIT
Debit. Cash SR9,000

Debit. Sales revenue SR9,000
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7. A company sold SR50,000 on credit (payment in 60 days). The payment was not
received in the due date. The company does some research and finds out that the

customer went bankrupt and will be impossible to recover the amount. How should the

selling company record this situation on the journal?

a. Account Debit Credit
Accounts receivable SR50,000 ¢ _‘P_Q
Cash SR50,000 w‘ r\- -

b. Account Debit Credit - H ,'C
Cash SR50,000 Invec ¥
Accounts receivable SR50,000 a

c. Account Debit Credit R

Irrecoverable debt expense SR50,000

Allowance for receivables SR50,000
d. Account Debit Credit

Irrecoverable debt expense SR50,000

Accounts receivable SR50,000

Cost of a machine (non-current asset) is SR700,000. Its'accumulated

depreciation'is SR200,000. This equipment could be “sold in the market for
SR420,000. This equipment's net book value (carrying amount) is:

SRSO0,000

b. SR700,000
c. SR420,000
d. SR900,000

Co5F Fres ace = ACUM 286C0n = J00 oo
().
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9. An item of inventory was purchased for 5R680! It is expected to begsoldiforsSR700: To
aEEE———— s

achieve this sale,selling cost of SR50 needs 0o be paid. At what @ should this item of
L
inventory be included in the financial statements? -

a. SR700

Cod - ARV
Qe tze VEl (rew=se

d. SR750 éS°

am—

T e”®

hoose which one is the capital expenditure regarding a machine:

a. Cost of transporting the machine to the purchaser's facilities, paid by the purchaser.

b. Cost of replacing some spare parts of the machine every three years.

]

Cost of electricity consumed by the machine while working.

o

. Repainting the machine.

(A

What is a characteristic of financial accounting as compared with management accounting?
7( a. Financial accounting focuses on internal parties, while management accounting targets

external users.
'% b. Financial accounting provides future oriented, timely information, while
management accounting is based on historical data.
c¢. Financial accounting can be focused on specific areas of the company, while

management accounting reports on the entire organization only.

d. Financial accounting is regulated while management accounting is tailor made to what

a.

decision makers need.

Cin — exte, Nan — iwkeo
C(V‘ S »\i‘tb Mav‘ -sh'\s -+ 6“"

Ciw = WPk Man —> Specifear
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96 Chapter 179610 marks 3¢

+* Question 1: for Financial Statements — SoPoL and SoFP

Below is the adjusted trial balance of Hadi Company that is in the merchandising of shoes

business
Hadi Company
Adjusted Trial Balance
31 December 2023

Account Debit Credit
Cash 7,300

Accounts receivable 3,300

Equipment 15,000

Closing Inventory 1,800

Accumulated depreciation - equipment 4,000
Accounts Payable 5,500
Prepaid revenue 7,000
Owner's equity 15,600
Owner's drawing 3,500

Revenue from shoes 7,900
Sales return and allowances 200

Sales discount 50

Cost of goods sold 950

Administration expense 800

Depreciation expense 3,700

Rental expense 3,400

Total 40,000 40,000

At the end of the financial year 31st December 2023, the ending inventory is was SR55,000.
You are required to prepare
c. Statement of Profit and Loss

d. Statement of Financial Position
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X Question 2:

A company shows this trial balance at the end of 2024:

Account

Factory

Buildings (headquarters)
Accumulated depreciation (Factory)
Accumulated depreciation (Buildings)
Accounts payable

Sales revenue

Selling (marketing) expenses

Cost of goods sold

Administrative expenses

Machinery

Allowance for A/R

Accounts receivable

Capital

Reserves

Long term debt

Inventory: finished goods

Prepaid expenses

Cash

Prepare the following financial statements:

1- Balance sheet

2- Profit and loss account

Debit
SR 8,000,000
SR 4,500,000

SR 150,000
SR 8,000,000
SR 700,000
SR 1,500,000

SR 1,600,000

SR 1,200,000
SR 20,000
SR 180,000
SR
25,850,000

36

Credit

SR 2,000,000
SR 2,400,000
SR 235,000
SR 12,000,000

SR 100,000

SR 5,000,000
SR 115,000
SR 4,000,000

SR
25,850,000
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96 Chapter 6368 marks ¢

+* Question 1:
Gadget Galaxy had the following inventory transactions for a specific type of drone during
the month of May:
* May 1: Beginning Inventory - 50 drones at a cost of SAR 500 each.
* May 10: Purchased 100 drones at a cost of SAR 550 each.
* May 22: Sold 120 drones at SAR 650
* May 28: Purchased 80 drones at a cost of SAR 600 each.
Assuming Gadget Galaxy uses the First-In, First-Out (FIFO) inventory costing method,

what is the value of the ending inventory (closing balance) of drones at the end of May?
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X Question 2:

A company presents the following data regarding its inventory:
01.01.2025 Beginning inventory = 1,000 units at SR50
05.01.2025 Purchase = 4,000 units at SR60

15.01.2025 Sale = 4,500 units

20.01.2025 Purchase = 8,000 units at SR70

28.01.2025 Sale = 7,000 units

Show the ending inventory (units and total SR cost) following:
3-FIFO method

4-Periodic average cost
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** Question 3:

Umar Tech Solution Company uses the continuous average cost method to value its

inventory of "giggles" tablets. There are many consumers using these tablets and found

them cheap and useful for daily use. In order to determine the ending value of its inventory

and gross profit for the month, here are the inventory transactions for the month of May

2025:

May 1, beginning inventory of 75 units at SR250 per tablet

May 5, purchase of 50 units at SR270 per tablet

May 12, sold 60 units of tablets

May 18, purchase 40 units at SR260 per tablet

May 25, sold 30 units of tables

May 28, purchase 25 units at SR280 per tablet

May 31, sold 35 units of tablets.

¢ Instructions:

c. Determine the value of the ending inventory of Umar Tech Solution Company as of May
31, 2025, using the continuous average cost method. Show all your calculations.

d. If Umar Tech Solution Company's total revenue from the sale of "giggles" tablets in May
2025 was SAR 48,000, calculate the cost of goods sold and the gross profit for the

month.
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+* Question 4:

(a) Storm, an entity, had 500 units of product X at 30 June 20X5. The product had been
purchased at a cost of $18 per unit and normally sells for $24 per unit. Recently, product X
started to deteriorate but can still be sold for $24 per unit, provided that some rectification
work is undertaken at a cost of $3 per unit.

What was the value of closing inventory at 30 June 20X5?

(b) Hurricane, an entity, had 1,500 units of product Y at 30 June 20X8. The product had
been purchased at a cost of $30 per unit and normally sells for $40 per unit. Recently,
product Y started to deteriorate and can now be sold for only $38 per unit, provided that
some rectification work is undertaken at a cost of $10 per unit.

What was the value of inventory at 30 June 20X8?
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96 Chapter 7 ¢ 8 marks ¢
+¢* Question 1:
On January 1, 2025, Al-Amanah Trading Company purchased a piece of machinery for
SAR 150,000. The estimated useful life of the machinery is 5 years, and its estimated
residual value is SAR 15,000. Al-Amanah's financial year ends on December 31st.
% Instructions:
e. Calculate the depreciation expense for the machinery for the years ended
December 31, 2025, 2026, and 2027 using the straight-line method.
Also, determine the net book value of the machinery as of December 31, 2027, under
this method.
f. Calculate the depreciation expense for the machinery for the years ended
December 31, 2025, 2026, and 2027 using the reducing balance method at a rate of
30% per annum. Also, determine the net book value of the machinery as of
December 31, 2027, under this method.
g. Assume that Al-Amanah Trading Company disposes of the machinery on December 31,
2027, for SAR 65,000. Using the FIFO and reducing balance method for depreciation
(as calculated in part b), calculate the profit or loss on the disposal of the machinery
(show calculation).
h. Prepare the journal entry to record the disposal of the machinery on December 31, 2027,

using the FIFO and reducing balance method.
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+* Question 2:

A company purchased a new machine on 01.01.2025. The cost of the machine was

SR10,000,000. The company will

17depreciate the machine following the reducing balance method, at a rate of 50%. Show the

journal entries corresponding to

this depreciation for the dates 31.12.2025 and 31.12.2026.
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+* Question 3:

MDLBEAST, the company organizing Sound storm festival, purchased a truck to transport

musical & sound devices on 01.01.2025. The company paid SR 800,000 for the truck.

MDLBEAST plans to use the truck for 10 years, value. After 3 years, in 01.01.2028,

MDLBEAST sells the truck in SR 600,000 in cash. with a straight line depreciation and with

no salvage

1. Explain in which of the 5 categories of the accounting equation will MDLBEAST included
the truck: non-current asset, current asset, equity, current liability, non-current liability.

2. Why MDLBEAST included the truck in that category?

3. Record the sale of the truck on the journal.
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¢ Chapter 109¢3 marks ¢

+* Question 1:
On October 1, 2025, Al-Aman Insurance Company paid SAR 24,000 for a two-year
insurance policy covering the period from October 1, 2025, to September 30, 2027. Al-

Aman's fiscal year ends on December 31st.

What amount of insurance expense should Al-Aman Insurance Company recognize on its
income statement for the year ended December 31, 2025, and what is the balance of the

prepaid insurance account on its balance sheet as of December 31, 2025?

Please write the journal entry for (a) initial payment and the(b) adjustment made to

insurance expense at the end of financial year?
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X Question 2:

A company reports from January 1st until December 31st. The company signed the contract
of an insurance policy to cover risks in its factory. The company paid on 01.11.2024 the
insurance premium of SR240,000. This payment ensures insurance coverage until
31.10.2025. Please, show the journal entries that correspond to 2024 and 2025 regarding

this transaction.

45
SSall 3 V) b gt o Lt sma Vs il Jlee ) <l g S pal da ghna (3 58all aan




ST

¥ . > o o

teY- P T, -

BEUSINESS SKILLS CENTER

+* Question 3:

Salamiah Company received SAR 120,000 on 1st October 2024 from a tenant for rental
income covering a 12-month period in advance. The company’s financial year ends on 31st

December 2024. Explain how this transaction should be recorded in the accounting records

for the year ended 31st December 2024. Also, show the journal entries.
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+* Question 4:

Azeem Company has a service contract with a security company for SAR 8,000 per month.
Payments are made quarterly in arrears. By 31st December 2024, the company had paid
only up to September 2024 (i.e., for the first 9 months). The remaining amount for October
to December 2024 will be billed and paid in January 2025. The company uses the accrual
basis of accounting. Explain how Azeem Company should account for the security expenses
in the financial statements for the year ended 31st December 2024. Provide the necessary

journal entries and explain how the expenses and accruals should be reported in the income

statement and balance sheet.

47
Sl 3 Y1 U5 Lt 5 s ca il Jlae ) a5 5al i s 3 sl s




S| S5

BEUSINESS SKILLS CENTER

+* Question 5:

Razali Company provides financial advisory services and charges clients on an annual basis.
On 1st April 2024, the company signed a SAR 60,000 contract to provide consulting
services for 12 months (from 1st April 2024 to 31st March 2025). The client agreed to pay
the full amount upon completion of the service in March 2025. As of 31st December 2024,
no payment has been received and no income has been recorded yet. Razali Company
prepares its financial statements on a calendar-year basis. Under the accrual accounting
principle, how should this transaction be accounted for in the year ended 31st December

20247 Show the journal entry and explain how it would appear in the financial statements.
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96 Chapter 113¢3 marks $§
+* Question 1:
At the beginning of 2025, Al-Falah Company had a credit balance of SAR 28,000 in its
allowance for doubtful accounts. During the year, the company wrote off SAR 15,000 of
uncollectible accounts. At December 31, 2025, an aging analysis of the accounts receivable
indicated that SAR 55,000 is estimated to be uncollectible.
What amount should Al-Falah Company recognize as irrecoverable debt expense

(bad debt expense) for the year ended December 31, 2025?
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+* Question 2:

During its fiscal year ended December 31, 2024, Al-Salam Trading Company had an
outstanding accounts receivable balance of SAR 750,000. The company uses the allowance
method to account for uncollectible accounts. At the beginning of the year, the allowance for
receivables accounts had a credit balance of SAR 35,000. Throughout the year, Al-Salam
Trading Company determined that SAR 18,000 of accounts were uncollectible and wrote
them off. At year-end, an aging of accounts receivable indicated that SAR 62,000 of the
remaining receivables were estimated to be doubtful.

Based on this information, what amount should Al-Salam Trading Company recognize as

irrecoverable debt expense (bad debt expense) for the year ended December 31, 2024?
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+* Question 3:

Rosa Company sells Calculators. Rosa Company receivables account has a balance of
SR67,000 on 31st March 2024 before making the following adjustments:

a) Debts amounting to SR7,000 to be written off because it is believed that they are
irrecoverable.

b) Rosa Company decides to make a specific allowance of SR2,500, in which Rosa
Company's allowance for receivables on 1st April 2023 was SR4,500.

i) Prepare journal entries for the above transactions?

ii) Calculate the net receivable on 31st March 2024 after adjusting for the above two

transactions.
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$¢Chapter 5 $¢MCQ ¥

X Question 1:

A company sold merchandise to a customer for SR100,000 on credit. Cash discount is 5%
if settled within 7 days. The company felt the discount would not be taken by the customer.
The customer, however, paid in 7 days from the invoice date and enjoyed the discount.

post the journal entries corresponding to the sale and the cash receipt.

Notes:
5% x 100,000 = 5,000
100,000 - 5,000 = 95,000

+* Question 2:

A business made a credit sale to a customer amounting to SR350,000, with payment due in
45 days. However, five days after the sale, the customer returned goods worth SR80,000
due to defects. How should the company record the return transaction in its accounting

records?
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+* Question 3:

A company grants a 15% trade discount to certain preferred customers. Additionally, it
offers a 3% early payment discount to credit customers. A customer makes a credit
purchase of goods listed at SR8,000 and qualifies for the trade discount. However, the
company believes the customer is unlikely to take advantage of the early settlement

discount.What amount of revenue should the company recognize at the time of the sale?

+* Question 4:

On March 5, 2025, Company X sold goods on credit to Customer Y for SR4,000, offering a
2% early payment discount if payment is made within 7 days of the invoice date. At the time
of sale, Company X reasonably expected the customer to take advantage of the discount. On
March 11, 2025, Customer Y settled the invoice within the discount period and qualified for

the discount. What journal entry should Company X record upon receiving the payment?
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$¢ Chapter 3 $¢MCQ ¥

+* Question 1:

A business has the following position in its Statement of Financial Position, that are as
follows: Assets SR600,000, Liabilities SR250,000, and Equity SR350,000. The company then
raises additional funds by issuing new ordinary shares, receiving SR120,000 in cash. This
amount is immediately deposited into the company’s bank account. What will the accounting

equation look like after recording this transaction?
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¢ Multiple choices :

1.

A company applies PERIODIC weighted average, and it reports the following data for its

inventory:
Units Unit cost
Beginning inventory 1,000 SR10
Purchase 5,000 SR22
Sale 5,900

What is the value of the ending inventory?

a. SR1,600

b. SR2,200

c. SR1,000

d. SR2,000

2. A company has an accounting year from january 1st until December 31st. On December
28th 2024, the company receives from a customer SR500,000 as the payment of a
service that the company will provide in the first quarter of 2025. What is the journal
entry the company should record to register this cash receipt?

a. DEBT CREDIT

Debit. Cash SR500,000

Debit. Prepaid income (unearned revenue) SR500,000

b. DEBT CREDIT

Debit. Cash SR500,000

Debit. Sales revenue SR500,000

c. DEBT CREDIT

Debit. Sales revenue SR500,000

Debit. Cash SR500,000

d. DEBT CREDIT

Debit. Prepayment SR500,000

Debit. Cash SR500,000
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3. ABC Corporation has purchased a new machinery for its factory (purchasing price

SR 1,000,000), in cash. Which journal entry should be recorded by ABC Corporation?

a. DEBT CREDIT
Debit. Accounts receivable SR 1,000,000

Credit. Revenues SR 1,000,000
b. DEBT CREDIT
Debit. Cash SR 1,000,000

Machinery SR 1,000,000
c. DEBT CREDIT
Debit. Machinery SR 1,000,000

Credit. Cash SR 1,000,000
d. DEBT CREDIT
Debit. Machinery SR 1,000,000

Credit. Accounts payable SR 1,000,000

4. If ending inventory is overvalued:

a. Assets are overstated in the statement of financial position and profit is overstated in the
statement of profit or loss (as cost of sales is lower).

b. Capital will increase in the same amount.

¢. Non-current assets are overstated in the statement of financial position.

d. There is no impact on either statement of financial position or statement of profit or loss.

5. What is a characteristic of limited liability companies?

a.The liability is limited, which means that shareholders may lose all their
personal assets (houses, cars, etc.) if the company goes bankrupt.

b. The liability is limited, which means that if the company goes
bankrupt, the maximum loss for shareholders would be the price they
paid for their stock of the company.

c.They are usually owned by one person.

d.These companies can be started informally, i.e., not following any legal procedure set by the

corporate law.
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6. A company sold goods worth SR10,000 on credit. Cash discount is 10% if settled within
8 days. The company felt the discount would be taken by the customer. The customer,
however, did not do as expected and paid in 30 days from the invoice date. The selling
company's journal entry for the cash receipt will be:

Notes:
10% x 10,000 1,000
10,000 -1,000 = 9,000
a. DEBIT CREDIT
Debit. Cash SR10,000

Credit. Sales revenue SR1,000
Credit. Accounts receivable SR9,000
b. DEBIT CREDIT
Debit. Cash SR9,000
Credit. Accounts receivable SR9,000
C DEBIT CREDIT

Debit. Cash SR10,000
Credit. Accounts receivable SR10,000
d. DEBIT CREDIT
Debit. Cash SR9,000

Debit. Sales revenue SR9,000
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7. A company sold SR50,000 on credit (payment in 60 days). The payment was not
received in the due date. The company does some research and finds out that the

customer went bankrupt and will be impossible to recover the amount. How should the

selling company record this situation on the journal?

a. Account Debit Credit
Accounts receivable SR50,000
Cash SR50,000
b. Account Debit Credit
Cash SR50,000
Accounts receivable SR50,000
c.  Account Debit Credit

Irrecoverable debt expense SR50,000

Allowance for receivables SR50,000
d. Account Debit Credit

Irrecoverable debt expense SR50,000

Accounts receivable SR50,000

8. Cost of a machine (non-current asset) is SR700,000. Its accumulated

depreciation is SR200,000. This equipment could be “sold in the market for
SR420,000. This equipment's net book value (carrying amount) is:

a. SR500,000

b. SR700,000

SR420,000

. SR900,000

o 0
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9. An item of inventory was purchased for SR680. It is expected to be sold for SR700. To

b.

& o

achieve this sale, selling cost of SR50 needs to be paid. At what value should this item of
inventory be included in the financial statements?

SR700

SR650

SR680

SR750

10. Choose which one is the capital expenditure regarding a machine:

a.

Cost of transporting the machine to the purchaser's facilities, paid by the purchaser.

b. Cost of replacing some spare parts of the machine every three years.

C.

d.

Cost of electricity consumed by the machine while working.

Repainting the machine.

11. What is a characteristic of financial accounting as compared with management accounting?

a.

Financial accounting focuses on internal parties, while management accounting targets
external users.

Financial accounting provides future oriented, timely information, while

management accounting is based on historical data.

Financial accounting can be focused on specific areas of the company, while
management accounting reports on the entire organization only.

Financial accounting is regulated while management accounting is tailor made to what

decision makers need.
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